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GROUF-A / VFI*A
PHYSICS /fffiffiqI

Direction:Answerthefollowingquestionsby ffi$t z

selecting the correct option,

l. A car moves with a speed of 60 krnh-l
from pointAto point B and then with the
speed of 40 kmh-t &om point B to C.
Further it nroves to apoint D with a speed

equal Io its average speed betweenA and
C. PointsA, B, C and D are collinear and
equidistant. The average speed of the car
betweenAandDis

(A) 30 kmh*l

(B) 50 kmh-t

(C) 48 kmh*r

(D) 60 kmh-'

2, Which of the following types
electromagnetic radiation travels at
greatest speed in vacuum ?

(A) Radio waves

(B) Visiblelight

(C) X-rays

(D) All of these travel at the same

. speed

A person moves 30 m north, then 30 m

east, then 30"8m south-west. His
displacement from the original position is

(A) zffi

(B) 28 m towrds soutlt

(C) 10 m towrds west

(D) 15 rn towards east

of
the

t2 (2)

(D) ls m {6{

1.

q$r tgs ft'{rr{ Tcg ftrrr
er*sfr"{ fur q'rc 

r

qsB rflq s{rq A Rt cqrE B ftTrs
60 kmh-r vlrrr B frT C?kS C fi"Ss
40 kmh*r {e$s qt* r tt&F c fta cenrc

qKH D ficlrs !tFr, A € C frT T{Fq
6lv', dfrr<cll I A, B, c, D fuefr
qtrf,fts e q'{qgdl A cc;riF D RTs
qq]ffi d9 d&Tffr qE

(A) 30 kmh*l

(B) 50 kmh-l

(C) 48 kmh*r

(D) 60 kmh-r

fiErr ffir+ v&qg{fi{ RfrrtB
"FIqr{ qt. {s qfu<c?r D[E?

(A) m&.g s*{q

(B) T"rqH qfiHT

(c) x-3fr

(D) B,rr'-s q<sfr e+t af&r<crt u,rE

7

3. ,qF qIfu gq[x BSrg 30 m vl?'rr {f{
3o m {31 cqH qfuq-"fPxq 30.,8 m

{N I 15 \ry-{qp ffiS sla 4gct qS

(A) T{
(B) 28 m qfrr{

(C) l0 m 'fFEH



T(B) a
.6(c) Tr

T(D) T

Ttre time period of simple pendulum inside

a stationary lift is 7. The lift accelerates

upwards with an acceleration of g/3. The
time period of pendulum will be

(A) Jir

The position of a particle at time r is given
by the equation

,(,) =*(t*,n')

vo constant and A > 0. Dimensions of vo

and A respectively are

(A) lL,f L7-7 and [.{trI"I-r]

18) ll,n L?-tl and pA LT 4)

(C) Llvf LTtl a*d $uf L"T\

(D) Wf LTtl atdpffLT-t)

The electic field in acertainregloo gtvCIn

by i =5? -:j kvlm. The Potential

difference Yr* Vrbetween point ..4 and B
having coordinaxes (4, 0, 3) m and
(10, 3, 0) m respectively is equal to

(A) 21 kV

(B) -21 kv
(c) 3e kv
(D) -3e kY

l2 I P.T.O.

-{sfr frfr Fry6 w.'{Ru ccrga[:l.{
q{s<FH r I Fqffi g/3 Y{{ fics €qrr
obcg qr$(E c,rgqHBr qqf-wH qcE

s. r vFrci erm ffi q{q|ffifr qfrffiq E{

x(r)= \$-,'')
vo SFliF q<i I > 0

vo€lq{qf€f{{
(A) Lf,t"L7-j and ftvfl'T-tl
(B) Uf Lfil a*d luf LTa]

(C) WLr\and$f L"Il
(D) [tvf Lf\ andLtf LoT*tl

6. qsfr frffi qln @qrsq q
E=si-si kv/ml EF ftFf. A s B

qtcm tmffi qe$SGt (4, 0, 3) m €{i
(10,3,0) m sffiEt qrtfr fu{ ?<ml

YB-yA w
(A) 2l kv
(B) -2I kv
(c) 3e kv

0) -3e kv

Jir
T

42

.6
2T

T
T

(B)

(c)

(D)

(31



1 A gas fills all the space in a container in
which it is kep because

(A) the molecules of gases have large
interrnolecular spaces and kinetic
energy

(B) the molecules are not free to move

(C) the randomly moving molecules hit
against the walls of the container

(D) the molecules have large
intermolecular forces of athaction

Which of the following substances in
gaseous state should be called a vapour?

(A) Hdiwn

(B) Nifiogur

(C) Carbon dioxide

(D) Sulphu

I fermi is equal to which one?

(.d) 10-15 m

(B) 1frr2 m

(C) 104 m

(D) None of the above

Platinum iridium alloy used in making
prinlary standard metre and kilogram
because

(A) the alloy is least changed by
temp€rature varialions

(B) it is non-corrosive and so does not
wear out easily

(C) it is quitehmd and does not change
with tirce

(D) All of the above

ffilr{t "rfrq fffiq trrcr Et Elrqfr q{q
q&-cs cllrs rFr6f

(A) €rtm( qt€fr{ q"lffi-qr{fr-s

ryfiqF s ttfu.{fu cft
(B) fl,fim{ qt€fr }r{ffi D'EIEE Srroo

"firfr {t
(c) Wm Ffffiffi qrtrffr u{t.&

ElIg,{ ffi,ffillH ffilc{ {l?t ffi
(D) \ryl€frr $u qM{w{k$ qF{q

T{ $ 6{fr
ftrrs 6E1-a emre{frrs flIrfi{ w<Etq qt'"t

TqT ES?

(A) RfrBH
(B) {R6lrqE
(c) er+{ IrRffis
(D) {faTsK

1 rtffi ft[,Fa rolaB{':p1p1?

(A) l0-r5 mFr
(B) 

'Otzffi(c) lo-e ftFtfi

(D) S"tr<rq c+'tafrQ {{
srefiq qfrexq xirfr {E ffia s
futstrrd $Efrs {ffiF-q qr<qr s-,1

WSFIRf
(A) sfqqBF "ftdrsr{ ql[q $ Rx{

tffiuq
(B) ,4BT W!tr{ eft.rffi qqffi q.E q{

qt

(c) ,4fr $ IW \q<( ffrcFr qJrql

1ffiWql
1n) E nrg rT{sfr

7.

9.
9.

10. 10.

(4)



ll. A small block slides, without friction, down
an inclined plane starting &om rest. let s,
be the distance fravelled from I= n - I to

'ta
I = n. tnen ls' sr+t

2n*l
2n

2n+l
2n*l

2n*l(c) z.*r
(D) None of the above

A truck travelling with a speed of
60 km/h can .brake to stop within a

distaace of 20 ur. If the car is going twice
as fast i.e. 120 km/h, the stopping
distance will be

(A) 20 m

(B) 40 m

(C) 60 m

(D) 80 m

Which statemen(s) is/are conect?

l. An arnmeter is conaected in series in a
circuit and a voltrreter is connected in
parallel

2, An ammeter has a high resistance.

3. A voltmeter has a low resistance.

(A) t,7,3

(c) 2,3

(D) I only

(A)

(B)

12.

13.

t2

11. ..{TB cqF er q{qQr rgwt ffilT{
&q erEt qcs tkg qvcq 1 qft 1= p*

I nftrF / - z :T:E{lTt TC{l s, {-df qeEq

.s,Tr{, st qr{ EC{
Jn+l

2n-l

12.

(A)

@)

2n

2n+1

2n-l

2n-l(c) ffi
(D) s"rffid @frfifrR qr

60 ffitq; qfuqlri DqqB ,{-sfr

Ers$rfr trp rc{ zo fra Eyq{ qrq

EIo{ r {fr qffiE freq {er<ctt \rydq

r2o frfrAs firtt Drq sl{f,q 6s rc{
{lr{tr{rs qsY qK

(A) 20 m

@) 40m
(C) 60 m

(D) 80 m

ftrsr crtq <trfiI& (eft) qgl?

t. 8frq<6,fr{s wF!?K oft qrqlm

EE csl4fimf, q{ffirrE w'{liH

wsfiwt
\T'IFffiIKF Mtq EETKH $MI

cgr$ffima csf{ HH Elsn
l, 2,3
raLt L

(c) 2,3

p) I o*ly

13.

2.

J.

(A)

(B)

(sJ IP.T"O.



14. A 6 () resistance wire is doubled up by
folding. The new resistance of the wire
be in a circuit will be

(A) r.s Cl

(B) zrt

(c) 312

(D) None of the above

Tkre resistors R p R2,.R, and fta re given in
the figwe below:

AII are in qual vdue. Whd arc the readings
of voltmeters A, B, C if the resistance of
connecting wires have negligible resistanc€?

(A) 3Y3V,6V
(B) 3Y 6V,3V

(c) 6v,3Y3V

(D). None of the above

The lamps in a household circuit are
connected in parallel because

(A) this way they require less curent

G) if one lamp fails the othe,n remain lit

(C) this way they require less power

(D) if one lamp fails the others also fail

15.

16.

t, (6)

14. qsffi 6rl'6t{ ftrFfE EKrs c'fFcr

Tuq T$EE r uBq#firg vlrBr pa
ffiIE EK

(A) l.s C}

(B) zfi
(c) 3r)

(D) Eo{rffi mrqftQ ;w

fiIDT E6q mwl Rl, Rz, jtj qri ,i?4

ffit{sfr{ {Fr rHl;t

qft qwfqstfi et{€k{ cilt{ ffnt Es

slqTE A, B, C odtffiF€fr-{ qrbefr

ECE qerqrst

(A) 3V,3Y6V
(B) 3V6Y3v
(c) 6v,3Y3V
(D) S,nar confrQ rn

15.

16. {€rqrfrr s&q<6ftcs @T qt&efr
rHlE{rq Frq{lH Etrtlrfi w sl;r6l

(A) e?p'tr{ EHrffi F{ frEq qTD q{

(B) ,q$E qre {fr 4t YCE sK
wrs& qryCE qrm

(c) qtpTc{ qt$flrE sq ?<ErBs IFTE|

Ercfl

(D) qofr Tt& {ft qt qffi Er{
qmefrs q"cq ql



17. Which of the following is the most likely
temperature of the filament of an electric
light bulbwhen it is working onthe normal
220V supply line?

(A) 500"c

(B) 1500oc

(c) 2500'c

(D) None of the above

The shape of the earth's magnetic {ield
resembles that of an imaginary

(A) U shaped magrtet

(B) straight conductor carrying current

(C) current carrying circular coil

(D) bar magnet

A sfiong bar magnet is placed vertically
above a horizontal wooden board. The
magnetic lines of forces will be

(A) only in horizontal plane around the

magrret

(B) only in vertical plane around the

nraglrct

(C) in horizontal as well as vertical plane

moundthemagnet

(D) None of the above

The north-south polarity ofan elecmomagnet

can be fowd easily by using w?rich rule?

(A) Fleming's right-hand rule

(B) Flemingsle$-handrule

(C) Clock face rule

(D) Left hand thumb rule

t7. rHq csF{l ?T[fus <tfr qt{Kq 22AY

m<$q EHIqT qkcl 39 E$ qs wFt
utq ffir sfl{tqt fu6s cqn6

EK?
(A) s00"c

(B) 1500"C

(c) 2s0o'c

(D) E16a c+Efrq m

rB. tFfu ffirs csct-q{ qFeT fr{
\TKR .{Tfr fiEFd-$

(A) u qlTfu p'qcs{ qrccr

(B) fifql seq{fQ "ffiq q|(al

(c) io&q{Q ${ \flTfu{ qffi
Tqfrr qlcq

(D) q'sPqr$s qftel

19. *TE qffi ri-s FsS brysm eTfr
qTgRs fi*{ r{tcfu 6"rs <m qtcE l

FTse{ {qrs'fl€fr qrsm pt-sB-{

F*ftcs

(A) re$rq qlgfrs scE

(B) tsfllis &qwTE

(c) sqEfiT \s BEq * *rqq

(D) Sqms mnfrQ qr

zt. ,qr$ s&qp-qrfr €er-qfrq csF
qEffift{r qn q{ ftffir ffiq ffi
3I-{qF TCf,?

(A) gfrt e< \rEqg Rs{

(B) trfu ,qs arlw frr{
(c) q&K :fifir !r&1ait$lr'<r fi{q

18.

19.

(71t2

(D) <Fqs 1q-lq$ frr{

lP.T.o.



21. Ths essential difference between an AC
generator and a DC generator is that

(A) AC generator has an electromagnet
while DC generator has permanent
rnagrct

(B) DC generator will geaerate a higher
voltage

(C) AC generator will generate ahigher
voltage

(D) AC generator has slip rings uihile ttre
DC generator has a commutator

22. The ma"rimum number of 40 W tube lights
connected in parallel which can safely be
run &om a240 V supply with a 5A fuse is

(A) s

(B) ls

(c) 2a

(D) 30

73. An object is placed at what distance from
a cCIneave mirror of f= 10 cm that a
magnified real image is formed?

(A) I cm

(B) 15 cm

(C) 20 sm

(D) 25 qn

21. AC mq63u s DC ffiTrt*(fri qrql

w "fifrJ EE

(A) AC ffi?m-Ttr{'{ TCr{t u&spr
$rs qq( DC qRfr

qtfr ETs o[m

(B) DC ffiTl(.$n Bw ffit+ Sqm
$r{

(c) AC cq{l(6d tm pt+ ffi vc-s

(D) AC cqTlrrtrffi fr"ffrt c[iF

m{|fi DC ffiTlr-S{sa sy6b{
EITT

22. 240v ema Elq6{ ft"*tqriElt.T D1Etr
40 w qmfur +o€fr frB{ qRB q{EiltE
qffifi3 3F Trrcs ErE csffiq frsq
EFITHI \4lcq, sA-qB?

(A) s

(B) rs

(c) 2a

(D) 30

23. lo cm crytfiq MI* ,eTE \rreE q{q

sR.$ Ts EE€ ,{<FE eflS SHCE ulT
q( fir<ffiu fl&frt ffi q6{r

(A) 8 cm

(B) 15 cm

(C) 20cm

(D) 25 cm

t) (8)



(B)

(c)

(D)

Aconvex lens of focal length 8 cm for.rnsa
real image of the sarne size as the object.
The distance between object and its image
will be

(A) I cm

(B) 16 cm

(C) 24 sn

(D) 3?crrr

The magnification produced by a spherical

mirror and a spherical lens is + 0.8 then

(A) the mirror and the lens both are

convex

the mirror and the lens both are

00ncave

the mirror is concave and lens is
conv€2(

the mirror is convex and lens is
corEdlve

Magnet attracts magnetic substances as

iron, nickel, cobalt ete. They can also repel

(A) paramagnetic substan€es

(B) fenomagneticsubstmxces

(C) diamagneticsubstance$

@) All of the above

&rehalf (lower) ofaconvex lens is coverd
with a black paper. The lens produces

(A) acomplete iraage ofthe object

(B) a dimturished irnage of the oliect

(C) an enlarged image of the object

(D) None of the above

alLt.

t7 I P.T.O.

I cm cqtqH Hl RFE ,{Tfr 6sq
aq(Ers sBfrq wr wH \xl$tffir s ql l

T€ s Sefi'ff{ qqiqff TfiE qc{

(A) 8 cm

(B) 16 cm

(C) 24wt

(D) 32rrr

,qqfr (rfifiT q{q .s ,{<iffi cef&s cqq
qm frTft ES + 0.8 \5Iqtrq

(A)

(B)

q"f{ .s ffiq $A Wq qc{

q{a e ffiq qfrQ wwr E(r

(c) q,fqfr \nlwT $ ffifr Ereq qc{

(D) qfiE Sqq € rqqB \FIsaT qcq

pffi erfir "rqFf 
q{r onEI, frr<rE,

6$l{tsbllfrm w{.f Ecr I s,Frt Elqlq

froft +ra

(A)

(B)

(c)

qsQ-tfr{ tritdeFr-+

\qryrAx emFfe&F

&r.prffx qril{efrr's

(D) 6qmq w{B&

27. qrfr €qE ffistit ft${ friffi Et{sm
,srB qltnl fiqq ftm crm ffis{t qE t

ffiS Sqrm w1q{ eFt

.e+fr w"o1{ se&q(A)

(B)

(c)

(D)

esm yw{ d&frq

e$E Twr sfrfrq

S"tc-sn c+tqffi t{T

(e)



28. One eV (electron volt) of nuclear energy is
equivalant to

(A) l.S x 1g-t+1

(B) 1.6 x 16*tz3

(C) 1.6 x 16-tr1

(D) I.6 x 19-ts3

The magn*ic field lines in the middle of the
curr€nt carrying solenoid are

(A) cireles

(B) spirals

(C) parallel to the axis of the tube

(D) perpendicular to the axis of the
tube

In vacuurn, which of the two a feather and
a coin will reach the ground fust on being
dropped?

(A) Coin will reach the ground fint
(B) Feather will reach the ground first

(C) Both feather and coin will reach the
groud sirnultaneously

(D) None of the above

A river is flowing from west to east at a
spoed of 5 m/min. A man on the south
bank of the river, capable of srarimrning
at 10 nlmin in still water; wants to swim
across the river in the shortest time. He
should swim in a direction

(A) due north

(B) 304 east of north

(C) 30o west of north

(D) 60o east of north

qp SrETEq ffi* (ev) ftBfr{ {fu(
'HF[ EE

(A) LS x l0-t+J

(B) l.$ x 1g-tz3

(C) 1.$ x 16-ts;

(D) 1.6 x 1g-tsl

.qffi s'BqqrQ qFirm[ss Eo qrar{q
q<rcr ffi{$ qqm'{t€fr ffi
(A) lFlTlr
(B) :ryffirys*

(c) qBilscs-{ \rys qrt-fi frl6drE

(D) qFfimcsfr qcffir qfBt 6rq <irrfiT

qErffqm ,q$E flrq$ s qrffi {€l
&qq corq ftro qrErn cenfr Efffi qtft
*"lxfWm?

Wfr Elxrt EtB.="r*f TTRtr

)0

28.

10

30.

30.

(A)

(B)

(c)
"tffi q1C{ ffi *"f{ e'<rg

BFIE € "flErcfi esq qqm {tE

31.

''"H Tr,cq

6:) bort=rs corrtfr,? ;lr
.qsB qfr s m/min rlBrqE {foq ctms

";{k? ftqr qftffi? qfu{$m esfr
ffilT &{ qrq to mlmin ffic6f ;f}slg

TB:rCI $rg I fr' rii\ol* cwt affi qm

<tx Sw$ee Tesq :nst Errr{s Dttr I

q'r{rfr s6r :fiEela rfro gq
(A) fu'{'frm
(B)

(c)

(D)

fu.ffi q[$ 3oo {s*q tfr
BgKs qlcq 30" arErr "IFET{

31.

t7 (10)

bqcsfi qlmf 60o c€Ic't Td
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32. A particle has an initial velocity of 3rt + 4j

and an acceleration of O.+i*0,:j. Its

speed after 10 s is

(A) 7Jz dt
(B) 7 unit

(C) 8.5 unit

(D) lOunit

An object moves at a constant speed along
a circulm path in a horizontal XY plane,

wi*r ttre cente at the origirl urhenthe object

is at x = -2m its velocity is

(-+*/rlj.What is the object's

acceleration when it is aty = ?srt?

(A) -(a*r")i

(B) -(t*r")i
(c) -(** t"')i

(D) (+*r")i
Earliest thermometer was developed by

(A) Celsius

(B) Falrenheit

(C) Kehdn

(D) Galileo

Two blocks of lead, one twice as heavy as

the other are at 50qC. The ratio of the total
heat content of the heavier block to that of
lighterblock is

(A) 0.5

(B) I

(c) 2

(D) 4

t2

32. .{sE rgr fl"teft's qr&-[qrr ri + aj u<r

Y{cl o.+i+0.3j. los "rca EFr flfucqrl

<{
(A) T.E qm
(B) 7 qTT

(c) 8.s q1rs

(D) l0 qFF

33. .srB {G qqserc ErTPfiT vrq xY
$R "rcet urmcq ffi cfia {-Erfr'qre
wfu I T{R q€B x:*2m fu.s g3q

fl&rqq Eq (-+m I s) j . q{R qqfr

y:z$r fra-r qfi ftK 1li'l EE

(A) -(**r'2)i
(B) -(t*rs2)f

(c) -(+*r-')i
(D) (+*2")i
srBtrw c[c{fiila ?sfr FKRrE{
(A) crr4Fmq

(B) TtLE-{qRt

(c) c{qe{
(D) trhhs
$ qxl ils fisaf €, q$ qrs q"rcfr-{

freq (ETfrT E-{,rKs) q<q, Blrqs

ulqqm sooc. stft rsFg qsqq mF
v.lE s qlryfl il{fu cqffi 9116*6 q{fltr
{.q
(A) 0.s
(B) 1

(c) 2

(D) 4

(11) I P.T,O.



36. Which one is correct for a pulse?

(A) It is of long duration

(B) It is of short duration

(C) Tiavels in vacuum only

(D) Travels in solid only

37, Speed of sound at constant temperature
depends on

(A) pressure

(B) density of gas

(C) Both (A) and (B)

(D) None of the above

38. A wave has SHM whose period is 4 s wtrile
another wave also possesses SHM has its
period 3 s. If both are combined then the
resultant wave have the period equal to

(A) 4s

c) 5s

(C) 12 s

(D) None of the above

39. I. ' 
The air bubble shines in water.

U. Air bubble in water shines due to
refiaction of light.

(A) Both I and II are true

(B) Both I and tr are false

(C) I is true and II is false

(D) I is false and II is true

36. w"FrFF[ CF@ frr5{ rfl{fr qESt

(A) 35 cEft ;Hc{sr w] qlft

(B) {( s.T {Ill3rir qqI Etft

(c) \s$E T{rEr{ Drq

(D) \s$rE Eh $$c{ Erq

37. Rq vt NrqH "fcqrr fl&T{q fi6a e"cr

(A) E|LK s"l3r

(B) fr,llffir sftgf €fi{

(c) (A) s (B) K?K E tn

(D) 0qrsn rslrflfrq m

38. Efi ,tffiffilE tB ry1fr' sf;cwT qq{'TfE

4 s qfi 3 s. qfr ,{8, TE a*gqm
qw}&,o €fl qs sEffi qF{Ftg srcar;t
qffiTlq Ec<

(A) 4s

(B) 5s

(C) 12 s

(D) $,nn-s c+nfr,R ;rs

39. I. qq {ET qffi ffi{l qcTqrr S'Cit I

u. {l{. 3515 wt rcql qqqq Trfr

TITI € !ryt1pfr gfuTql

(A)

(B)

rsrTFRqq,
rs rKbRftsr

(C) I rTEl .{<\ rt ftc$

(D) r fist €{i r qs.j

t7 (12)
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10. A person sitting in a chair in an artificial
satellite feels weightless because

(A) the earth does not attract the object
in a satellite

(B) the normal force by the chair on
the person balances the earth's
attraction

(C) the normal force is zero

(D) the person in satellite is not
accelerated

Which one is a vector quantity?

(A) Temperature

(B) Density

(C) Electic current

(D) None of the above

A vector 7 points vertically upward and

E points towards north. The vector

product 7*E is

(A) along west

(B) along east

(C) rera

(D) verticallydownward

A stone is released from an elevator goiog
up with an acceleration a, Ttre acceleration
ofthe stone afterthe release is (with respect

to ground observer)

(A) a in upwarddircction

(B) g-{ in upward directioa

(C) g-,a in downward direction

(D) g indownward direction

40. Tfr{ Uqarq qs <lfu crqilF T[ri
\eq{.f{IE1 WF< ffit SFrq qE

(A) tftft 6qdrq-{ qqqq ftrr"F
qrcdq rffi It

(B) cu{F Tfus 6"rs cq Eq fl&fu
Trf, st tFl?tr qr{q {c6K qkql

qFfl' g&-St recq

(c) q? a&fuqt T{1 E{

(D) E"fsrq'd qqd w"r cfr
frrEfi cfiffi N3{ $Fr?

(A) st"Iffii$l

(B) q{Y

(c) rg&q emrq

(D) S"nrs mnfrq rss

,{T, \ry$fr E €Wfr(s {{ T(S qtCE 
I

uklm rsta eqr-q 7 "E ,qT E&T3

WE

(A)

(B)

(c)

(D)

T{I
ffirs

41,
41.

42.

42.

( qFDqfrrc

"I{fuT

43.
43. erfr c Wt fics SffiS Ws qql

6rffi ffi "ftstrd{ FFrilrr wgt qE I

qtqfifr qIEm "K ESK\o {f+l "t{r{snrfr
qE"[F {t{cFr Y*q <{
(A) a EeKfrm

(B) ra €tafrr+
(C) g-a ffirs
(D) s frrsfrR-r-$

(T)l2 lP"T"O.



44. A ball is dropped from a height of 10 m.
The ball is embeded in sand through 1 m
and stops. In this case for the ball

only momentrru remains eonserved

only KE remains coaserved

both momentum and KE are

conserved

neither KE nor momentum is
conserved

A particle is projected from the surfaqe
of the earth with an initial speed of
4 kn#s. Find the maximum height
auained by the particle.
Radius of earth: 5400 km and g = 9.8n/d.

(A) 
= 

935 km

(B) 9.35 km

(C) 5.04 kln

(D) None of,the above

A simple pendulum with a bob of mass m
is sr:spended from the roof of a car moving
with horirontal acceleration a .Then

. -rCl(A) the sting makes an angle at stn '-

wittrthe vertical

@) the tension in the string is

io the string is

(A)

(B)

(c)

(D)

45.

46.

*,F* *
the teasion

d$a
(c)

t1

(D) None ofthe above

(14)

(D) s"t[-qR crytmfrq 1{

44. to m 66rrl W ,{sE srm ftffi frrs
qMt qq I Tqfr 1 m <lh{ {nr fco {ircs

ks qq r qtrr-Gr r{Bf,
(A) !S{$q vrrH &r cilsK

(B) \${$q qeqfu &r qrrE

(c)

(D)

s{crft € sr&q&' Eftq k{ Erscq

BTfin e ot&'{&i r$g4fuq p1
cilsrE qI

4s. 4 km/s glqfr-s fiq frrs qs$ rqrs
{tfrT$ 6e6*a ga11q fir+ ctnfl qq r

quB ,K<fE sE Sffi-trI{ tbrc qtrcE?

"lfaffu 1lmd = 6400 km, g: 9.8m/s2

(A) = 935 km

(B) 9.3s km

(C) 6.04 kn

(D) $ryrs asffitfr,q ;tr

46. q{pfr$ frrE u yd.t frH E'qqrt ,qrfr
6fifr qq cqrr q+E qfrE(qlErs (qf?

fits& ss ,a) -rs $FKT (q€{t qE I

slE,(E

(A) CerlEr$fr EHE qlcqt

rolq Gqqn s-flq

SKES

. -tOsm --
g

6HgKBfl qffi

Erq K{

(B)

(c)

*WF



48.

47, The automatic switch that controls the
temperature is

(A) thennostat

(B) pyrometer

(C) photodetector

(D) None of the above

Which of the following characteristics of
sound are affected by the change in
temperature?

(A) Wavelength

(B) Amplitrde

(C) kfensfly

(D) Frequency

Unit of the product of capacitance and
resistance is

(A) ofm

(B) volt

(C) ampsrc

(D) second

The aursunt ofheat (in calories) required to
convert 5 gm of ice at 0"C to steam at

100oC is

(A) 3100

(B) 3200

(c) 3600

(D) 42Ao

49.

50.

t2 I P.T.O.

47. t{(&r & qt sHqrff fiw{ Tffi st
qE

(A) qrrfsrF

(B) "rfffiK
(c) mffiert?n

(D) Eqcq< mr{lfrq q-{

ftcu cqs{t }rr4m mt{ tqFEJfr gl"Frrqt

"tffiHr vrtcqt qffi\o qsz

(A) s$*EfJ

(B) fruK

(c) sr<m

(D) T""lti$

ffiH q<i Srsc$fr '€6FFr6K qsr qE

(A) sq{

(B) 65f{

(c) q'tFtstq

(D) C{GFS

0"c s$Elst 5 slq ffiTrF 1004c vu'n
qftxqtr'{ {frre T;rss g.t.',t efix&*{

rcnrffi qrr+) qE

(A) 3r0o

(B) 3200

(c) 3600

49.

50.

(15)



Direction : Answer the following questions by
selecting tlre correct option.

51. The presence of electric charge on the
colloidal particles is indicated by the

. expaiment

(A) osnosis

(B) electophoresis

(C) dialysrs

(D) elwtolysis

52. Basicity of the acid HrBO, is

(A) 2

(B) 3

(c) I

(D) None of the above

53. One mole ofmagnesium nitide on mction
with excess of water gives

(A) two moles of arrrmonia

(B) one mole of nitric acid

(C) .tlo rnoles of nitic acid

@) one mole ofammouia

54. Which one of the following is a terminal
functional group?

(A) - CHo
(B) -oH
(c) -NH2

0}) E=c(

GROUP-B / gIT.--B

CHEI\ISTRY IKqI{fiTg
ffitet g ,r$o UBT ft-{F{ p,ra ftg,<

sf.refrg fts qfs t

sl. mFTGrs r6tt{ m efuwn €qfu ql(E

sl qF{Fr "tffi qf,

(A) !ry&ufi

G) sfuqqqqqa

(c) R&fteNq

(D) s&qfottqr

52. qttFrg H3BO3 ,ffi Srr$QET qE

(A) 2

(B) 3

(c)

(D) bqLT{ cfirfifrq ;{r

53, qT CqIET SIfiMFlTlq TffiRg EEfiE
qrffir vtcq ffixt oca be,l TK

(A) R mn qrrffirffiI

(B) q3 HtFr {R&T qJtfrs

(c) t? en qR&T qfiPrs

(D) qs filE E kntfr{t

s4. frcm ffiqE sr${ Ttffifr ym?
(A) -cHo
(B) -oH
(c) -NH2
(D) ts=c(

( 16)



55, Dwing electolysisofCuS0o solutionusing
copper electrodes, the concentration of
CUSOa solution

(A) increases

(B) decreases

(C) first increases and then decreases

(D) remains unchanged

56. Which of the following pairs is not
isoelectronic?

(A) CO, CN-

(B) CO, NO

(c) g2*, Ne

(D) N2, CO

57. Which allokopic form of carbon is used

as moderator in atomic reactor?

(A) Fullerene

(B) Diamond

(C) Graphite

(D) None of the above

58. The incteasing order of bond angles of
the cornpounds CHa, NH, and HrO is

(A) HzO . NH3 < CH4

(B) CH+ " NH3 < H2O

(c) NHr . H2O < CH4

(D) HzO . CH4 < NH3

t2

55. s-m s&qqfT qFrElH STr cusoa wr(*r
sBq fr'cm{ F{E{, cusoo e<r6K rfluy

(A) &'fl-q
(B) AH "rfr

(c) s{cq qk {r q-{( erffi qlq "ll{

(D) \q9fffi ffis

s6. ftrua crr{ ffirsfr eRcqRcE+Efr+

{{I?

(A) CO, CN-

(B) CO, NO

(c) oP-, Ne

(D) N2, CO

s7. s'tdr!-{ asH mqrcqB ePffifi-q qfitp
{glt.T?fr Rql(1 ffiqs'qs?

(A) TEfft{

(B) Affi

(c) $mR?

(D) Eqr-qs 6E6a1ffi ;tt

5g, cH4, NH3 q<q, H2o &(q{ ffi;t ffilct

,qr 6ds{ qq

(A) H2O <NHr < CHq

G) cH+ t NH3 < Hzo

(c) NH3 < H2O < CH4

(D) HzO * CH4 < NH3

( 17-) IP.T.O.



59. The density of a gas at NTP is
0.002848 gr,d-l.The gas is

(A) N2

(B) COz

(c) cH+

(D) SOz

60. The number of atoms in 0.1 mole of a

tiatomio gas is

(A) 1.806 x 1922

(B) 6.A23 x lg23

(C) 1.806 x 1923

(D) 6,023 x lg22

61. CH3CH2CHrnr-ffiX,

Xis

(A) CH3CHzCH3

(B) CHr * CII = CH2

(c) 
. 
cH3cH2cH2oH

(D) CHt-C*CH

61. Which of the following is not an ore ofAl?

(A) Calamire

(B) Bap<ite

(C) Feldspar

(D) Cryolite

59. NTP F ffi1r{l q<sfr Sflr{fr q{q

0.002848 smrr. ryqE q
(A) N2

(B) COz

(c) cH+

(D) soz

60. 0.1 mrdr "ft{tq mlffi bRwrfrf 6t}lm

,K{tt{ q$fi qE

(A) 1.806 x 1*2
(B) 6A8 x 1923

(C) 1.806 x lg23

(D) 6.023 x lg22

61. CH3CHzcHrrrffi-*x,
x€
(A) CH3CH2CH3

(B) CH: - CH = CH2

(c) cH3cHzcH2oH

(D) CH:*C=CH

62. frcus csr{E Al -qn \qrck mr
(A) r$EHR{

(B) ffitF
(c) 6q{sqffi

(D) @rc-qHRt

t7 (18)



63" 30 ml of 0.2 (n0 H2SO4 aod 20 ml of
0.3 (/V) H,SO4 are mixedtogether. Whatis
the strength of the resulting acid?

(A) 0.12 (il)

(B) 0.36 (/O

(c) 0.60 (/CI

(D) a.24 (n)

Which one ofthe fallowing sale in aqueout
solution (0.1n4 is alkaline innsture?

(A) Sodium bomte

(B) Ammoniumchloride

(C) Calcirnnnitate

@) Sodium sulphate

50 gn of a saturated aqueous solutiou of
KNO3 at25"C contains 2l gm of the salt.

The solubility of KllO3 at 25"C is

(A) 138,09

(B) 4.72

(c) 72.4r

(D) 42.04

Whiclrofthe followiug indicators is sritable
for the neutralisation of NH4OH vr
cH3cooH?

(A) Mettrylsrange

(B) Fhmolpt*halein

(C) Methyl red

(D) None of the above

30 ml 0.2 (lr) H,SO4 qqq 20 ml 0.3 (ff)

H2so4,sr'[cX 6T{lrHt qq I frg El^tfrgfrg
qlilt Ts EcE?

(A) 0.12 {nr)

(B) 0.36 (ff)

(c) 0.60 (Ir)

(D) 0.24 (it)

fufr rsE q{qBf, q'frT E<sf (o.lrl)
qnqfl Erqr

(A) ffifeTlq ffiffi
(B) lq'rfrrtfr$q 6l{fu
(c) TJrEftrrq rlt6?

(D) 0fie$q {Hcqs

25"C ESst{ 50 gn EG;t KNO3 -ql
q-Ts q'fiT Frcq 21 gm KNO3 \ryrq I

,r"g $qsEl$ NO: -qq qf{s.l qE

(A) 138.0e

(B) 0.72

(c) 72.4r

(D) 42.00

Nr{4oII r[4FI Crr:COOH ?r.FF{ fuTF
frt< crtq fu.qvB sqwr
(A) frqR-E qffiq

@)

(c) frefltn rtr

1n) Btrs( 6E6affi ;m

65.

(1e)lj lP.T.o.

64.

66.



67. The number of nronochloro structural
isomers obtained from (CHr! CHCILCH3
b

(A) 2

(B) 4

(c) 3

(D) s

The distance of separation betlveen second

and third orbit of hydrogen atom is

(A) 0.s2e A

(B) 2.116 A

(c) 2.64s A

(D) l.os8 A

Which ofthe following salts does not exrsl.l

(A) NarPO,

(B) NqPou

(C) NarHPO,

(D) NarHPOa

I lifis of water contains 0.001 mole of
dissolved CaCI2. The hardness of water in
ppn utitis

(A) 300

(B) 200

(c) 1s0

@) 100

67. (CH3)z CHCHzCH3 fim Bq,'tA

{fitGrtrf,t ut'oqqg \ryR"qtqtr -.qa Tiqil
q

(A) 2

(B) 4

(c) 3

@)s

68. ERIgt(w "{$qq{ frqs s Vfiq strffi
{q<q T{9 ES

(A) 052e A

(B) 2.116 A

(c) 2.64s A

(D) r.0s8 A

6e. fiL6K r$tq al-qqBr qfrg cqtt

(A) Na3PO3

(B) Na3POu

(C) NqlIPo,

(D) Na2F{POa

10. 1 &?K qrs o"oo1 frf{ cacr2 qAEs
qnR I q'CqT qrefBt {EIt ppm ,{SSP qE

(A) 300

(B) 200

(c) r50

(D) 100

t2 (20)



71. The antidote of poisoning caused by CO is

(A) carbonurdum

(B) carbogen

(C) carbonic acid

(D) pure oxygen

72. Bayers'reagent is

(A) alkaline Ktr{n04 solution

@) acidic KMnO4 solution

(C) neutral KMnOo solution

(D) None of the above

73. The correct priority order of functional
groups in IUPAC nomenclature is

(4) -{OOH > )C:O > -CHO > -OH

(B) -COOH > -CHO > *OH > )C =O

(C) {OOH > *CHO > )C =O > -OH

(D) -OH > )C =O > -CHO > --COOH

74. Ex{racJion of a metal from its ore is infaot
a process of
(A) decomposition

(B) reduction

(C) oxidalion

(D) auto-oxidation

71. co Erfi'fiKe$ q"Frlrttrt qt?r$o q{

(A) Hr{frrgl{

(B) fir<frq{

(c) fi{ft$ \mFne

(D) fr"qeq' q&rqr

72. s$r ffis qE

(A) T'fsT KMnO4 Uq6t

(B) qtks KMnoa Ertcf

(C) 9l*FI KMnO4 EEtcl

(D) €"nr* crImBq q{

73, IUPAC qIqTf,H Tlffi T Ss
q6sHtsr{ qft,T wI qE

(A) -{OOH > )C:O > {HO > -OH

(B) {OOH > {HO > -OH > )C=O

(C) -COOH > *CHO > )C =O > -OH

(D) -OH > )C:O > -{HO > -{OOH

74. \rytTk'S cEriF {lY fiEFqffid gfu$fr

w
(A) frc-{lw{

(B) fun'r

(c) qFH

p) q63q,Frt

( 211t2 lP.T.O.



75. The increasing order of conductivity of
0.1 (M) solution of H2CO3, NaCl,
C6H12O6 and HCI is

(A) H2CO3 <NaCl < HCI < C6HI2O6

(B) C6Hl2Od < HCI < H,CO3 < NaCl

(C) C6Ht206 < H,CO3 < HCI < NaCl

(D) C6HI2O6 < H2CO3 < NaCl < HCI

76. In which of the following cases Bohr's
theory rs not applicable?

(A) H

(B) He+

(C) H+

(D) 62+

77. The pH value of a solution is equal to 4. If
the solution is l0 times dilute{ then pH of
the solution

(A) increases by I

(B) decreases by 1

(C) increases by 10

(D) ramairn unchanged

78. Which one of the followingmetals reacts
with strong atrkali NaOH to give H2 gas?

(A) Fe

(B) Cu

(C) Na

(D) Ar

t, (27)

75. H2CO3, NaCl, C6H,2O6 qqi HCI qT

0.1 (M) e3r61fr lfuaax EfEq EE

(A) H2CO3 <NaCl < HCl < C6H,2O6

(B) C6H1,O6 < HCI < H2CO3 < NaCl

(C) C6HpO6 < H2CO3 < HCI < NaCl

(D) C6HI2O6 < H2CO3 <NaCl < HCI

76. ftuT ffi{ftf, ffirEI mE EEE Scq&]
6R?

(A) H
(B) He+

(c) s+

(D) Liz+

77. trltrl epfr qqrqK pH -.qT ffi = 4 .

qft mqD lo €q arT TTt ql g-ffi

Eq"lBr pH qr{

(A) I q$-s rk "flrE

(B) r qsT gm "llr{

(c) 10 qrr ffi ql[E

(D) qo&'{ffis crsr{

78. ftEr afia {W 6a wta NaoH {?
qrfr frfu Trg H2 ttr'lq Bq."ta rrg?

(A) Fe

(B) Cr

(C) Na

(D) Ar



79, The reaction

Po+ 3NaOH + 3H2O -+ 3 NaHrPOz+ PH3

isa

(A) comproportionationreaction

(B) disproportionationreaction

(C) neufialisationreaction

(D) None of the above

E0. Charge of one POo! ion in coulombunit is

(A) 1.602 x l$-re

(B) 4.806 x 10-re

(C) 3.204 x 10-1e

(D) 1.902 x 10*1e

81. Who was the inventor of neuton?

(A) Chadwick

(B) Rutherford

(C) Thomson

(D) Anderson

82. The correct electronic configuration of Cr
atom is

(A) ttul4dss1

a) ttu]4dsp

(c) tArF#4P

(D) [ArF#4sr

79. P++3NaOH+3HrO -+3NaHrPO2+PH3

frffi qE

(A) Trrc8lc"ffirrrff{ frfuTl

(B) fta6g6r{-g{m{{ fr&Tt

(c) em{q fre.-T

(D) S"rcrs 68ilfr8 ffi

80. e<s roo3- qHr;r* qt{l{ Tqq qsr$
qq

(A) l.6A2 x lQ*le

(B) 4.806 x l0*1e

(C) 3.2M x l$-le

(D) 1.902 x 10rle

81. FrEEq s.ilT \flffif,s c+ Rrqqr

(A) qlstts

(B) TmBI3FM

(c) Erqq

(D) q;rgrffil

sz. Cr o6fit1{ qbs qffi-$E{ frqfiq qq

(A) [Ar]4dssl

(B) tArl4dsf

(c) tArFd4P

(D) [Ar]3d4sr I

( 23)t2 lP.T.O.



83. Amongthe following the weakest acid is

(A) HCIO4

(B) H2SO4

(c) H2co3

CI) No:

84. Baking powder on heating evolves

(A) rL,

(B) oz

(C) N2

(D) COz

Ozone layer in the s&tosphere is depleted
by

(A) CrFo

(B) CeHe

(c) cclzFz

(D) C6H4C12

Whlchof the following metals reacts with
O, to furm super sxide?

(A) Ms

(B} K

(c) Al

(D) Zn

t1
d74!t

83. frxfrfu qt&.seFrn {Hr E{.qer
qltFrefr qq

(A) HCIO4

(B) H2S04

(c) r{2co3

(D) HNO3

84. 6{fu {tE!5KrS €ree TTrE fr$s qs

(A) T'

(B) az

(c) N2

(D) COz

8s. trlftFrystrr qffiFfisircs s{ Tf,{

(A) CeFe

(B) Cer{o

(c) cct2F2

(D) C6H4C12

86. fifcn{ csm qtgfr qfuqmf, qffi frfrrfft
TC{ TtF EsEg Sq"m T.m?

(A) Ms

(B) K

(c) r[

(D) kL



87. The corrsct order of increasing basic nature

of the given oxides is

(A) MgO < KzO . Al2O3 o NueO

G) AzO: < MgO o N%O " KzO

(C) N%O . KzO < MgO < Al2O3

(D) KzO . N%O " AzOs < MgO

Which of the followiag molecules is
nonpolar?

(A) BF:

(B) NF:

(c) PFr

(D) None of the above

On adding a few ml of H2O and dilute
HCI to a freshly precipitate of A(OH)r,
gives awhite sol ofAl(OH)3. The process

is called

(A) coagulation

(B) dialysts

(C) potection

(D) prytizatiut

Molarity of pure water is

(A) l8
(B) I

(c) s.ss

(D) None of the above

t7. ftffis q$fuefrr qtfrr {d{ qfr's

Sqfuq qE

(A) MgO < KzO * {zO;.N%O

(B) Al2O3 < MgO 
" 

NuzO " KzO

(C) N%O . KeO < MgO < Al2O3

(D) x;O . N%O < Al2o3 < MsO

89.

89.

(?s)

88. fiffi{ ceH =rytB 
qsftTr

(A) BFr

(B) NFg

(c) PFr

(D) Eqr-q{ csRffiEq qq

qEr $w A1(OI{): q< !ry{6tpcf qr qm

qt{lry qq qfi EI{ HCI frftr TrrE
AIQrD: qn qml <c{a :m Eq"rt ql t

.qt. flfu-s 16Tl q{

(A) sqq{

(B) frrffiRrg{q

(c) q$tFq

(D) !ry"i?F;q

kqsq qgr ffiErEE E'q

(A) 18

(B) 1

(c) 5.55

(D) Ercn cqJffifrq ffi

t) lP.T.O.



91. Sodium thiosulphate on careful heating
dissolves in its owl water of
crysuallisation giving rise to a solution. The
solution is called

(A) saturated sohsion

G) unsaturated solution

(C) supersaturated solution

(D) colloidal solution

92. DDT is a

(A) ftrtilizer

(B) nonbiodegradablepollutant

(C) biodegradablepolluarf

(D) grrenhouse gas

93. Whichone of the following does rrolreact
with ammoniacal cuprous chloride solution?

(A) 119 = CH

(B) CH:-C =CH

(C) CHr*CHz-C =CH

(D). CH3-C =C-CH3

94, Most effective electrolyte for coagulation
of Fe(OH)3 sol is

(A) Kr[Fe(CN)61

(B) NarCrOa

(c) K2so4

(D) KCI

(26)

91. ffiBlE efiLqqrqcrtrs qe-Sg-ta qffi
6qe firc{ efr eq ffiElq qcE qfi-{tr
qH erB qqq Ee"H T'6{ t e<qftrs
Fil q{

(A) 'Jr$r u<cl

(B) qq*F E<q

(c) q&Ts q<q

(D) 6s'Fms Eit6l

92. DDT qE

(A) nrq'lrfr'+ q'lK

(B) ?q<s{fimNJ ws
(c) ffiIws
(D) ffiq arm

er. *rufr ffiqS !ryrtffi$m {s ftSem
trt$kg stt'.llt {rq firffi srf, qt?

(A) HC = CH

(B) CHs-C=CH

(C) CH:-CHz-C=CH

(D) CH:*C =C-CH:
s4. Fe(OH), {drtrF qlqeis T-{K q{r ,Kffrs

olffi e&qRHv "reildB qq

(A) Kr[Fe(CN)61

(B) NqCrou

(c) K2so4

(D) KCl

t7



95, Boron occurs in nature in the form of two

isotopes ,Br0 and ,Bll. The percentage

abundances of trryo isotopes in a sample of
boron having alomic mass 10.8 are

(A) 30, 70

(B) 50, 50

- (c) 20, 80

(D) 28,72

96, Volumes of N, and O2 in a gas mixture are

80% and 2004 respectively. The average

vapour dersity of the gas mixtue is

(A) 14.4

(B) ls

(c) 30

(D) None of the above

91, The first ionisation potentials in electron

volts (eV) of oitrogen and oxygen atonns

are respectively gtven bY

(A) 13.6, 14.6

(B) 14.6, 13.6

(c) 14.6, 14.6

(D) 13.6, 13.6

t7 lP.r.O.

9s. er{ere $g RKffi{ q't{I{ ,B'o q<i

,8" E& qEmt$|t ctrrr I ffi;nfit

'rmqks B-{ 10.8 qrq ,a 4T{E qfr

!{fuTl#H $fl $p-{qr lo.{'fi ffi{H
qc{

(A) 30,70

(B) 50, 50

(c) 20, 80

(D) 28,72

s6. ,qrB sl{frsc{ {k&Igq ,fii
Efuqrffi Etxtsr rr?fiErn 80% ,.qqi

20%t rrrrT frs{Fg tlg <|"'NqY qE

(A) r4.4

(B) ls

(c) 30

(D) €"fnr 66affi ;w

s7. {H&tcw ,{q1 q&rHE ordqHF seH
qlqfi fur<a qF ?rEFrgl6 (ev)
q$.r$ qer@trr

(A) 13.6, 14.6

(B) 14.6, 13.6

(c) 14.6, 14.6

(D) 13.6, 13.6

(21 ).



98. HC = Q11

Pis

(A) CHr: CH2

(B) CH3CH2OH

(c) cH3cooH

(D) CH3CHO

99. Which ofthe following rnolecules does not
obey octet rule?

(A) S0z

(B) Coz

(c) PC13

(D) HzO

100. Density ofwater is mar<imum at

(A) ooc

(B) ?soc

(c) 4oc

(D) None of the above

n (28)

98, HC = CH 'Hr

PqE

(A) CH, = CH,

(B) CH3CH2OH

(c) cH3cooH

(D) CH3CHO

es. foE{ 6st{ orytB q?s IF firR ECE

qt?

(A) SOz

(B) COz

(c) PCl3

(D) HzO

q'l3lit q{q tr<fks q{ Cq EFmqlH
qE

(A) ooc

@) zsoc

(c) 4oc

e) Strs's rslm$q {s

C4ID100.

,2*, H*
ry-



Directiou Answerthe following questions by
selecting the correct oPtion.

101. The marks in Mathematics obtained by

Sameer and R.abi are in the ratio 4 : 3. If
. Samesr gets 64 mCIks in Mathematics, the- 

marks obtained by Rabi in Mathematics is

- (A) 46

(B) 48

(c) 42

0) None of the above

102. In 4 years the simple interest on sertain

sum of money it * times ofthe pnncipal'

The annual rate of simple intercst is

(A) 4o/o

(B) s%

(c) e%

(D) None of the above

103. Raju's salary is 50% more t}an Ramu's

s*lary. How nnrch perce{t is Ramu's salary

less than Raju's salery?

" (A) xlu"

1

(B) y;%

(c) xlv"
4

(D) J{one of the above

t2

GROUP*C / VI'I-C
MATHEMATICS / 6II}TE

{2e}

ffifqta xft-s B€K ffitoq fi-fr ftcn.{

ET€fu{ fu< qIE I

1or. rff\ce qfrr q{q <kfr sts TrGn
qT."lts a : 3. {ft qfErs qsKT dlglq:t
64 W, sr{ rtf\cs <kr effgqs{ w{
(A) 46

(B) 48

(c) 42

(D) S"tc-cs crtraffi't qq

t$2, 4<qrrffi cstaat \ryrryryfr ,rfr w Et{r6{(

9

,, *" q{ I qlffis qrq $q{ qK q(q

(A) 4%

(B) s%

(c) e%

(D) €trss crtmtfrQ ;w

103. qlq{ Gwr rm re]ifit Gq{ so%

m,ft r rtXa r@[ {tET c{Etrlrt cEGI

F9 lsfirl T1 etr{?

I
(A) 33;%

I
(B) 33;%

I(c) 337o/o

(D) S"rffi 6$lrflE? ;rr

lP.T.O.



104. Ramesh gets double the amouutin 9 years
wlren invested at compound int$est. In how
many years will the amount become four
times itself ?

(A) 13.5 years

(B) 27 yea*

(C) 9 years

(D) None of the above

105. If the selling price of an item is t 84 then
the profit is 5026, what would be the selling
price to get 10% profit?

(A) 
" 

e2.4

(B) r 90

(c) r 88

(D) None of the above

106. By selling an item if the profit is 20%, then
the ratio of csst priee and selling price is

(A) 6:5

(B) 2 :3

(C) 4:5

(D) None of the above

107. The ratio of market prices of wheat aad
sugar is 2 : 3 and the ratio of quantities
consumed in a family is 5 : 4. The ratio of
expenditure of wheat and sugar is

(A) 6:5

(B) 5 :6

(C) 8: 15

(B) None of the above

ro4. frE bm Den1fr {ra ${rE mrrf s
{qrrffi .h bf$H freq qs I ss {qx.<
,h Br$r Etir€q ECq?

(A) l3.s TqlK

(B) 27 <qry{

(c) 9 <qT{

(D) Etrn< crtrilmq ;m

10s. ffiI3{t eKK R@ryr 84 bt$t ffi 5%
qN qs I E.<IE( ftsT{qr rtr qrq to%
Efs q3?

(A) e2.4 bFFt

(B) eo EIsl

(c) 88 brfi
(D) $tms cetHTEq;E

106. m'n3{ 6fl frfu T(q qfr 20% Els q{
srq qqlB3 .sr{Er ,{qq fiGxTrTIs
\ry-{"t1tr- q3
(A) 6:5
(B) 2:3

(C) 4:5

(D) Strs-s c$tntfrE qr

107. rFr ,{q( Efu{ <tqH Bqr s{Ytls 2 :3 .

@'rr{t ,ffr<r{ c{ offr{E xT ,4q, frfr
<lTqlT $(fr \51ir q{'tlE 5 :4. 'fffi?
?trr q<i frfr qt{q srcrr qflE {q
(A) 6:5
(B) 5:6

(C) 8: 15

(D) Sqcr{ ffififfifrq q{

J1IL (30)



108. The factors of (b2 - 3x + 1) are

(A) (x + l) and (2x - 1)

(B) (x - 1) and (2r + 1)

(C) (x - 1) and (2x - 1)

(D) None of the above

109. For what value of m the equations

3x - 5y = 6 and Z* -Y= m have irrfinite
3

number of solutions?

(A) 4

(B) I
(c) 3

(D) None of the above

110. Theroots ofthe equation += 0 are

(A) 3,7

(B) 4,7

(c) 0, 3

(D) None of the above

I11, If x is a natural nurnber and

3-2x2 x-12, thenthe greatestvalue of
,ls
(A)

(B)

(c)

(D)

4

3

6

Nsne of the above

t2 lP.r"o.

l0S. (2/- 3r + 1) ,qB Se,qlt?T€fr qq

(A) (x + 1) q<( (2r * l)
(B) (x - 1) qqi (2x + 1)

(C) (x - 1) q<i Gr - 1)

(D) sqr-cs cslrfifrR qr

109, m qT fS'F{. {lII?T's.{ 3x - 5}: 6 qq(

z*-tor! = * q*ffiq EET qT i{
J

TirI{IT qIT-K?

(A) 4

(B) I

(c) 3

(D) Errs ffitffiEq 4{

uo. +=o qftE.{qfr{ qfr frq K{

(A) 3,7

(B) 4,7

(c) 0, 3

(D) E"tr-cs mtrnrfrR ;m

nl. x ,q$fr wTfr-$ x$l q<(

3-Zx>_x-l? (FI, x 4{ {qgq {F
EK

(A) 4

(B) 3

(c) 6

(D) S"nrs cstr-{&q ;m

(31).



Il2. If logro (3x + l)= Z,then the value ofx is

(A) 33

G) 11

(c) 22

p) None of the above

113. Ifl= {1,2,3, 4, 5) and B={3, 4, 5, 6, 7},
thenl - B is

(A) {3, 4, 5}

(B) {6,7}

(c) {1,2}

(D) None of the above

lI4. If A and I are sets and AwB=AnB,
IIEII

(A) A=4

(B) A= B

(c) B: $

(D) None of the above

115. One third of sum of nvo angles is 60o and
one fourth of their difflerence is 28o. The
angles are

(A) 30o and 44o

(B) 34o and 90o

(C) l30o and 60o

(D) None of the above

112. {fr log,u(3x+ l) = 2 {{, 9f,{ x q( qFl

EIE

(A) 33

(B) lr
(c) 22

(D) S"nnq ffitr{'f&t ffi

113. qfr A= {1,2,3,4,5} q{( B= {3,4, 5,

6,7) ES, SK l-B ffi
(A) {3, 4, 5}

(B) {6,71

(c) {r,21

(D) 6qc.q{ cetffifr'q ;K

il4. qfr A qqi B EE 6nE q{ -q{(

AvB=Ang q SC{

(A) A: $

(B) A: B

(c) B: 0

(D) s"nsq mffiffi {$

us. qE crlrsr mE( + \ryfl 60o q<q

qrEfr lm,Grr i \ryi'f 280 Erq cstat

$ qrq

(A) 30" q<( 44o

(B) 34u qqi 90.

(c) 130o qq\ 60o

(D) strs{ c$tcilfr,q ;N

t2 {32)



116. The bisectors of any two adjacent angles of
a parallelogram make an angle of

(A) 30o

(B) 45o

(c) 90o

(D) None of the above

117. Intirc glven figrne ,ABCDis aparallelograrn

in which IBAD = 73' arrd IDBC = 60o.

Then ICDB is
D,r---------?C

(A) 45"

(B) 55o

(c) 65o

(D) None of the above

118, The length of achord rarhich is at a distance

of 12 crn from the cenffe of a circle of
radius 13 cm is

(A) 5 cm

(B) 15 cm

(C) lTem

(D) None of the above

75"

t2 I ET.O.

116. ffiIFfi s 5Affif Tfr {ERs
rsn"m q{h{erqr 6q ffit6l Eqt* rrq
st qE

(A) 30o

(B) 45o

(c) 90o

(D) s"tcrs 6E16{l&q ffi

ttl. effiE fu, ABCD,qSfr {HEkS {',13

\Kt IBAD :75o q<i ZDBC: 600 \5CE

I"CDB W

(A) 45"

(B) 55o

(c) 65o

(D) sqcm corfifrq q{

118. 13 C{fr <rHt{ frFB 6$l({t TCq-{ 6rE
arrr 12 cryfr wq q-{fu 6$rffi q',Ji-

,ffi ffi qCE

(A) s ffiR

(B) 1s cffi

(c) 17 ffi
(D) 6"tcm ffiRmB? m

(33)

75"



119. In the giveir figure,l.B is the diameter ofa
circle with cenre O. lf IBCD : 130o, then
ABAis

D

(A) 50o

(B) 40o

(c) l30o

(D) None of the above

120. In LABC, D and E are two points ar AB
and /C respectively in such a way that

DE ll BC. If AD =*r, and

BC=4,5 cm, then the value of DE is

(A) 1.5 cm

(B) lcm
(C) 1.1 crn

(D) None of the above

121. MBC is a right angled triangle where
ZA'BC = 90o, lB = 5 cm and

BC = l}cm. What is the radius of the
circumcircle af MBCI

(A) l0 cm

(B) ?4crrt

(C) 6.5 ern

(D) None of the above

t", (34)

119. ?rqg,

<IlT

STE

frcq o trEFrFE ffiHt sq{
qE lB . {fr LBCD: 130" q{,
LDBA -,ffi qr{ ECq

D

(A) 50"

(B) 4So

(c) l30u

(D) s"nrq c$lrqtffi nK

120. d/.BC -q3 ,48 qq. lC <lq{ B"tt
q$aFTq D e E qffi {E frT q'fr

DE ll BC E{ I q& 
.AD =*uo ,qql

BC:4.5 Cryfr q sTq DE'-,{T qr{ {CE

(A) l.s c{fr

(B) 1 crfr

(c) 1.1 fift
(D) Strrr ffimfrQ ;H

Izt. 
^i"BC 

Tt{L.Tlq frYffifi ZABC= gOOr

lB=56{ft q<iBC-12ffit191.BC
fry(qs tk{re-< cnt( wq

(A) 10 mfr

(B) 24 mfr

(c) 6.s 6rffr

(D) S"tem ffifi'tftQ q{



I itaIAL. The two circles touch each other internally.
If the rddii of the circles are 3.5 cm and

4.5 cm respectively, then the distance

between their centres is

(A) 8 un

(B) 4crrr

(C) 2snr

(D) None of the above

If in an isosceles righrangled triangle the

length of hypotenus is 10cm, tlea the
perimeter of the triangle is

(A) 10(\6 + t)cm

(B) 1o(.€ - r)cm

(C) si? cm

CI None of the above

Ths ratio of corresponding sides of two
similar tiangles is 9: 16. The ratio of
their areas is

(A) 3 :4

(B) 8t :256

(C) 256:81

(D) None of the above

A solid right circulrlr aone of diameter 2r
unitandheight 3r unit ismelted into a solid

right circular cyliader of radius r unir The

height of the right circular cylinder is

(A) 2runit

G) 3r uait

(C) r unit

@) None of the above

t23.

124.

rri

l7

122. 1s W 9lfrtftT E$8-orrf TCfl(q.I Is
qfr{ <rm{ qcnffi{ 3.s fr. fr. ,q<i

4.5 C{. ft. ECe, srcqBr RryqGffi qs{ff

Tf{ ErE

(A) I ffifr
(B) 4 mfr

(c) 2 cqfr

(D) S"fe<rs ffic{Ifr,q q'{

tzr. {ft {Ttrat ,m-srft }afrntq &Tw{
!{fryrq,,f, Ht 10 cryfr qr ErK

fryvtr erRff$ wT

(A) ro(.8 + r)mfr

(B) 10(€ -,) *fr

t24.

(c) s€ nfr
{D) S"nrs 6qgaffi ;n

TE fit frtcw{ w{s"t qqsfr-.{

W{"[s 9: 16 q(E, ElItK ffiqrr[BFt
q-fls qfi
(A) 3 :4
(B) 81 :256

(C) 256: 81

(D) s9l[m csr$frq q{

2r 4SS Eltq ffiE rsK 3r ,qTS EwsT

frFE Eq :smls fiK. r "r$T al&rs ',{sr $Ft{ frl}# esB EE Wlfl{
5fls 4Frrr4 Gtsfrfr ffit qcq

(A) 2r €FF
(S) 3r €SS
(C) r 4$T
(D) E tr-ffi cs,lrqtfrR q{

I P.r"o.

125.

(3s)



126, A circular ring is frrmed with a copper wire
of lenglh 44 cm. The diameter of the
circularring is

(A) 7 cm

(B) 14 cm

(C) 28 cm

(D) None of the above

127, A solid right chcular cone of radius 2r unit
and height r rmit is melted into a solid
sphere. The diameter ofthe sphere is

(A) zrurit

(B) runit

r(C) ;uritz

CI) None of the above

128. The radius of the cireumcircle of an

equilateral triangle of length of each side

fficmis
(A) lzcm

(B) 18 cm

(C) 10 cm

(D) None of the above

129. The area of a circle is 8n sq, cm. The area

of a square inscribed in this circle is

(A) 8 sq. cm.

(B) 16 sq. cm.

(C) 12 sq. cm.

(D) None of the above

t', t36)

126. 44 frfr ?ry* fiFB qTE etqtg stq
firl <ft qr$ Wffi{ fri <trnnT qff

qn frrfrs <f{ Ecq

(A) 7 c{fr

(B) 14 c{fr

(c) 28 ffifr

(D) E"lt.qs c?lr{tffi q{

tll. ZrqT+ ryjTf{ (Ti r qss €6lot frFE
qsfr Fffit q? Tslsrr "rflm q&rq m
firm? c5flerc EHrcil {H sF q,tq Ec{

(A) 2r €F$

(B) r €TT

r(c) , qm

(D) Eqr-rs ffiffiEQ q-q

13E. 6.,6 cryfr <tqRftE ,ssB ffmqeyffi{
qk{ffi{ q'rffd s<
(A) 12 c{fr

(B) 18 cqfr

(c) l0 ffifr

(D) Etr-c< mlffifrq rw

129. ,qsfr Imr 6scr{Fat 8n qfc{fr I ,{q

1re, tqoffifu qTfr qrftscq{ cFEIFE

Edq

(A) s {6{cqfr

G) 16 qffuqfi

(c) 12 Esfr'{fr

(D) &"nna crtrrytffi ;rs



130. If atriangle and a parallelogram are on the

same base and benl'een sarne paralletrs, then

the ratio of the area of the triangle to the

area of parallelogram is

(A) 1 :1

(B) I :3
(C) 1:2

(D) None of the above

131, The length, breadth and height of a

rectangular parallelopiped are in ratio
6 : 3 : l. Ifthe surface area of a cube is

equal to the surface area of this
parallelopiped, then wtrat is the ratio of the

volume of the cube to the volume of the

parallelopi@?

(A) 1 :1

(B) 5:4

(C) 7:5

(D) None of the aboYe

132. A sphere and a cube have sarne surface

area. What is the ratio of the square of
volume of the sphere to the square of
volume of &e cube?

(A) 6: n

(B) 1:l
(C) 3:n

(D) None of the above

133. The area of a rectangle is 75 sq. units. If
the ler,rgth of the rectangle is 5 unils more

than twice its width, then ix wi&tt is

(A) 3 units

(B) 5 wits

(C) 7 units

(D) None sf the above

l3o. {fr qTB frEu ,e<i qvB aqlsks
qrq Eft q<( .qs?, qqttcslE Yrq<
{c$ \q-{F q{ sR ffiH q<\

qHrcffi( ffietrrrK qlils q6{

(A) 1: I
(B) 1:3
(C) t:2
(D) bqrsa 6Era1ftQ qq

131. qqm qrr$ft 6qrqs ?q.dl, ?rE q<\

€;orsl'f q1'fis 6: 3 : l. qfr qTS

srGF{ }F{EI\r(ry{ ffiFrq qq ffiffiEs
SteNt{dK CSIFF'FK qqH {S, sK
qrs${ \ryFr$l .ffii ffi'rqBs qlxrsn-{

q$ts str {q?
(A) 1: 1

(B) 5:4
(C) 7 :5
(D) Strrs mffiEt qT

132. qrB CrtlFrr qlq ,4s,fr $rtrFR

'TII$Erffi CSET{TE TqF[ I C{TqSET

EITETffi fff qqq ffi5ET qreFIK

fff( \ry'fts ss EC<?

(A) 6: n
(B) l:1
(C) 3:n
(D) s"n-qs m.lrilfr,?, ;tr

133. qSE qtqwGs cswE ?s qf{ qsr I

qfr 
=rytxrscryffia Ht srqs frsrqr

csG 5 4TS C{ft qS, vR \5K ?rq ECq

(A) 3 qFp

(B) 5 qFT

(c) 7 qsF

(D) E rcrr ffilrqlfrR qr

(37)t) lP.r.o.



134.

135.

136.

The perimeter of a Eapezium is 58 cm and

sum of its oon-parallel sides is 20 cm. If its
area is 152 sq. cm, then the distance

between the parallel sides of the trapzium
is

(A) 6 cm

(B) 9.8 cm

(C) 15.2 cm

(D) None of the above

If 2sin20=l8, then the value of sin40 is

(A) I
(B) 0

1(c) -E
n4

(D) None of the above

If 7 tan 0 = 5, then the value of

5sin0+7cos0
7sin0 + 5cos 0

5(A) 
?

35(B) n
'37

(c) 
35

is

(D) None of the above

137. If tan a tan F = l, then
sin2q + sin2B is

(A) 2

(B) 1

(c) 0

(D) None of tlre above

t2

the value of

(38)

134. *qp ffift$rx-o "tftfiq ss fryR .{<(

wr qqqErlE Tlq Efu qqB zo cryfr t

qft sn csEFrE 152 qsfrqR qs, E6{

EtPtffi ffilq$H qm,Efrq qtqr Tff
qc(

(A) 6 c{fr
(B) e.8 c{fr

(c) 15.2 frfr
(D) B"rnr foffit qt

qfr zsinze=# qq E(E sin40 -,4T {H

1(C) E
(D) B"nrs crtrrtfrE qr

o6. {fr T.*'-O=S q{ E-[,{
5sin0 + 7cos0

7sin0 + 5 cos0

rsfimfrR dr
137. qfr tao0.tan P: 1 QlI, EI{ sin2CI + sin2B

.'ffi qm qC{

(A) 2

(B) r

(c) 0

(D) s"nr-s cEnfifrR qq

ECq

(A) I
(B) 0

qK qt{ qF

5(A) 
7

35(B) n
37(c) 
3s

(D) €qGrK



138. The value of
(1 + tan e + sec 0) (1 + cot 0 - cosec 0)

b

(A) 2

(B) I
(c) 0

(D) None of &e above

139. If 0 is a positive actrte angle and

sin 0 + cos€c 0 = 2, then the value of
side + coseE?O is

(A) 1

(B) 0

(c) 2

(D) Nons of the above

140, If the ratio of the height of a rod and the

length of its shadow is .,[ : L then the angle

of elevation of the sun is

(A) 30o

(B) 45"

(c) 90o

(D) Noae of the above

14I. The value of
tan zsotan 30"tan 45o tan 60"tan 65o

b

(A) 3

(B) I

(C) Ji
(D) None of the above

l4?. lf tan 0 + cot 0 - 2, then the value of
sin0+oos0is

(A) 
^fr

I

,12

2

Noae of,the above

138. (l * tan 0 + sec S) (1 + eot 0 - cosec 0)
q{{Hffi
(A) 2

(B) 1

(c) 0

(D) s"n-qr cflfitfrq rr
139. qfr e ,{ffi fi'lgr lsr$l6t q<i

sin$+cosec$=2 q ST{

siil0 + cosecT0 ,qF {Ff ECE

(A) I
(B) 0

(c) 2

(D) S"rsr rslffitB? qH

140. ,,q<rB qrs{ @1 ,{qi EFt qTF ?qd}T

v{T:fF ..6:1 {6E XFft ffi cfi{ qcE

(A) 30"' (B) 45"

(c) 90o

(D) $qr<m slmffiq ffi
141. tan 25otan 30"tan 45o tan 60otan 65" q<

$q wq
(A) 3

(B) I

(c) ,6
@) S"nns csf64frA qs

142. qfr tan0 + cot0 - 2 qs[{ sio0 + cos 0

,48 qFil qf,{

(A) 
^12

IG)m
(c) 2

(D) EondK 6P6affi ;nn

(B)

(c)
(D)

(3e)IL IP.T.O.



f43, If iri a frequency distribution median is 12

and mean is 10, then the mode of this
disibutionis

(A) 12

re) ls

(c) 16

p) None of the above

144. Which of the following is not a measwe of
cental tendency in afreqrcncy distibr*ion?

(A) Mean

(B) Widttr of aclass interval

(C) Median

(D) None sf tho above

145. The mean of 30 values was 150. It was
detected on rechecking that one value
165 was wrongly copied as 135 for
computation of mean. The correct mean is

(A) 14e

(B) tsz

(c) 1s3

(D) None of the above

IO

146. If I(r, -50) = 100, then f will b€
j=l

(here f is the mean of x values)

(A) 60

(B) 10

(e) 50

(D) None of the above

t1 (40)

,43. effi 1fr'ff1]t frrgtqrHs qqtqf 12

ffif+rc ?rg' ro ErE, {$Blss qFr

(A) t2
(B) ls

(c) 16

,{{q

ETE

(D) Stc<rs 6s1ffifrq il
r44. ftw-n ffi$ {frHisrr {{rflfitum

qRqt"r mr
(A) ffiflrs flv
(B) c$f\-?q,{I

(c) {EI5ll

(D) s"nm r+knfrQ qs

r4s. 30 E qi$Fr trfflrF rrg 150. 'rffi m{t
ffEE, ffifrrs rrs frdTs ,rrnr 16s fiqTE
EFK{g l3s RqlrE Sil qfficqt \96
&fils qip ECE

(A) r4e

(B) tsz

(c) 1s3

(D) S"rc-r{ (smftq qr

t0
146. qfr I (r, - 50) = 1 g0 q{, v-cE r q{

j=I

flq <q
(q{tcq r {fl x qE *Frsfts efhs
rlF)
(A) 60
(B) r0

(c) so

(D) S"rffi{ f$ffifrQ qT



141, lf f; = 100 and.y * ?r * 200, then mean of
y values will be

(here f is the mean of r values)

(A) 200

(B) 400

(c) 0

(D) None of the above

1.48. How many types of frequency distibution
are there?

(A) 3

(B) 2

(c) 4

(D) Ir{one of the above

149. Minimum value in class limit is called

(A) primary limit

(B) upperlimit

(C) secondary limit

(D) None of the above

150. Total of frequency up to an upper class

limit or boundary is known as

(A) cunrulative @uenry

(B) average frequencY

(C) fiequencydisnibr*ion

(D) None of the above

147. q& r=100 {Tly-?oc-200 En, qT{

y q( rf{sfr'd ffit}rs 6rP qcq

(q$H' r H rqa qtq€frT ctffhs
6rs)

(A) 200

(B) 400

(c) 0

(D) B"nrs crffi 4{

148. elfrqqqfl Rvrq-{ Ts ersr{K?

(A) 3

E)2
(c) 4

(D) Etc-cs mtrqrfrQ m

r4e. c$f\-frqId :nTI, q#|-5 {FnF <EI S
(A) gteft'$ fiqI

(B) &d tu
(c) frffr frqt

(D) Sqm mrtilfrR ;m

Ho. &d csft-fu $ csf\-ffi "t{€ ffiF
qftffiIns {EI E{

(A) EFqrfrth$ qfuiqI

(B) qrg 
"tRq$EI

(c) qfr'{iqfi Rslq,{

A) 6"rcil{ conmfrE ;m

( 41)t2 lP.r"o.
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